Year 10 – IGCSE 1 – Paper 4  May 2014 End of Year Exam Answers
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M2 for 457+ 32% -2 x 45 x 32 x cos100
or M1 for implicit cos rule
and Al for 3549....

M2 for 324 + (2 x 32 x sin67)
or MI for [324 =] V2 x 32 x x x sin67

BI for 22 or (%4)? oe seen
or Vs % 16 x ¥ their(b)(ii) * sin67
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and if in the form

then
BI for p=-1and r= 2(1) or better

B1 B1

SC1 for -2.30 and 1.30 seen or -2.3 or
~2.303 to — 2.302 and 1.3 or 1.302 to
1.303

or final answer —1.30 and 2.30

MI for (2x + 72+ (2x +7) - 3
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BI for Qx +7)* = 4> + 14x + 14y +
49 oe
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B3 for 1.16 x 10" or 1.1579.
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M2 for a complete correct method
or M1 for one correct step at any stage.

M1 for (x +a)(x +b) where ab =6
ora+b=-7

FT their brackets dep on M1 earned
After MO scored SC1 for 1,6 as answer

BI for 2(3x - 2) +x +2=4x10 oe

and BI for correct multiplication of a bracket
and MI for correct rearrangement of their linear
equation without brackets to ax = b + ¢ +d or
better

BI for any one of

I=a+b+1/60e
8a+4b+2/6 oe
27a+9b+3/6 oe

30 =64a+ 16b+4/6 o
Or any other correct equation
and BI for another of the above equations
and MI for equating one coefficient
or correct rearrangement to give a or b as subject
and M1 for subtracting to eliminate a or b
or correct substitution for their a or their b
Al fora=1/3oeor b=1/2 0e
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